

ABC Bid Data

DISTRICT 2 16162L **NON-FEDERAL**

PROJECT: DISTRICT 2

STATE PROJECT NUMBER: 16162L

FED. PROJECT NUMBER: NON-FEDERAL

DATE BIDS OPEN: SCOPE OF WORK: March 02, 2023, 2:00

Resurfacing various tier 2, 3, and 4 roadways in District 2.

COMPLETION DATE:

September 22, 2023

LOCATION:

District 2, Merrimack, Grafton, Sullivan

Awarded To: PIKE INDUSTRIES, INC.

3 EASTGATE PARK ROAD BELMONT, NH 03220

Amount: Award Date: \$5,573,390.73

Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
PIKE INDUSTRIES, INC.	\$5,573,390.73	Α
3 EASTGATE PARK ROAD, BELMONT NH 03220		
CONTINENTAL PAVING INC	\$6,034,990.21	В
1 CONTINENTAL DRIVE, LONDONDERRY NH 03053		

ABC Bid Data



DISTRICT 2 16162L NON-FEDERAL

					F	PS&E		JSTRIES, INC. TE PARK ROAD IT, NH 03220	1 CONTIN	AL PAVING INC ENTAL DRIVE RRY, NH 03053
Item	No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

		1							
206.1	COMMON STRUCTURE EXCAVATION	CY	6.10	\$460.00	\$2,806.00	\$4,200.00	\$25,620.00	\$100.00	\$610.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	7,292.00	\$29.00	\$211,468.00	\$32.00	\$233,344.00	\$25.00	\$182,300.00
403.11023	HBP-3/4" BINDER MIX, MACHINE METHOD	TON	913.00	\$93.00	\$84,909.00	\$80.00	\$73,040.00	\$86.00	\$78,518.00
403.11051	HBP-3/8" SURFACE MIX, MACHINE METHOD, QC/QA TIER 1	TON	3,749.90	\$77.00	\$288,742.30	\$85.00	\$318,741.50	\$95.00	\$356,240.50
403.11943	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	1,796.50	\$96.50	\$173,362.25	\$84.00	\$150,906.00	\$102.00	\$183,243.00
403.12	HBP-HAND METHOD	TON	95.10	\$194.00	\$18,449.40	\$250.00	\$23,775.00	\$165.00	\$15,691.50
403.16	PAVEMENT JOINT ADHESIVE	LF	66,701.00	\$0.30	\$20,010.30	\$0.30	\$20,010.30	\$0.25	\$16,675.25
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	4,938.20	\$3.50	\$17,283.70	\$2.50	\$12,345.50	\$3.00	\$14,814.60
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	31,137.00	\$3.75	\$116,763.75	\$3.00	\$93,411.00	\$5.00	\$155,685.00
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	1,874.90	\$78.00	\$146,242.20	\$89.00	\$166,866.10	\$100.00	\$187,490.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	36,515.20	\$82.00	\$2,994,246.40	\$89.00	\$3,249,852.80	\$95.00	\$3,468,944.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	42,230.00	\$2.00	\$84,460.00	\$2.75	\$116,132.50	\$3.50	\$147,805.00
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	4,795.00	\$2.00	\$9,590.00	\$0.50	\$2,397.50	\$3.50	\$16,782.50
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	161.00	\$124.00	\$19,964.00	\$145.00	\$23,345.00	\$193.50	\$31,153.50
604.0007	POLYETHYLENE LINER	EA	69.00	\$156.00	\$10,764.00	\$145.00	\$10,005.00	\$140.00	\$9,660.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	40.00	\$546.00	\$21,840.00	\$750.00	\$30,000.00	\$500.00	\$20,000.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	2.00	\$576.00	\$1,152.00	\$750.00	\$1,500.00	\$500.00	\$1,000.00
604.72	GRATES & FRAMES, TYPE B	EA	29.00	\$695.00	\$20,155.00	\$400.00	\$11,600.00	\$800.00	\$23,200.00
608.2401	4" CONCRETE SIDEWALK	SY	53.70	\$102.00	\$5,477.40	\$250.00	\$13,425.00	\$50.00	\$2,685.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	9.60	\$434.00	\$4,166.40	\$450.00	\$4,320.00	\$500.00	\$4,800.00
609.5	RESET GRANITE CURB	LF	62.00	\$75.00	\$4,650.00	\$100.00	\$6,200.00	\$50.00	\$3,100.00
616.606	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 6 FT	EA	1.00	\$700.00	\$700.00	\$800.00	\$800.00	\$1,000.00	\$1,000.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	5.00	\$1,475.00	\$7,375.00	\$1,450.00	\$7,250.00	\$2,000.00	\$10,000.00

ABC Bid Data



DISTRICT 2 16162L NON-FEDERAL

					PS&E	3 EASTGA	USTRIES, INC. TE PARK ROAD NT, NH 03220	1 CONTIN	CONTINENTAL PAVING INC 1 CONTINENTAL DRIVE LONDONDERRY, NH 03053	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
616.95	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$10,000.00	\$10,000.00	\$9,000.00	\$9,000.00	\$8,750.00	\$8,750.00	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	
618.7	FLAGGERS	HR	2,250.00	\$45.00	\$101,250.00	\$60.00	\$135,000.00	\$55.50	\$124,875.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$60,000.00	\$60,000.00	\$115,000.00	\$115,000.00	\$125,000.00	\$125,000.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$4,100.00	\$16,400.00	\$3,200.00	\$12,800.00	\$1,000.00	\$4,000.00	
628.1	SAWED CONCRETE PAVEMENT	LF	48.40	\$13.75	\$665.50	\$10.00	\$484.00	\$10.00	\$484.00	
628.2	SAWED BITUMINOUS PAVEMENT	LF	119.80	\$8.00	\$958.40	\$10.00	\$1,198.00	\$10.00	\$1,198.00	
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	2,431,579.50	\$0.15	\$364,736.93	\$0.14	\$340,421.13	\$0.19	\$462,000.11	
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	709.00	\$2.00	\$1,418.00	\$1.50	\$1,063.50	\$3.00	\$2,127.00	
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	365.00	\$5.00	\$1,825.00	\$5.00	\$1,825.00	\$8.00	\$2,920.00	
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	709.00	\$2.00	\$1,418.00	\$1.90	\$1,347.10	\$2.15	\$1,524.35	
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	126.00	\$2.50	\$315.00	\$2.30	\$289.80	\$2.60	\$327.60	
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	251.00	\$3.00	\$753.00	\$3.00	\$753.00	\$3.45	\$865.95	
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	46.00	\$5.50	\$253.00	\$4.00	\$184.00	\$4.60	\$211.60	
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	365.00	\$5.00	\$1,825.00	\$5.00	\$1,825.00	\$5.75	\$2,098.75	
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	450.00	\$16.50	\$7,425.00	\$8.00	\$3,600.00	\$9.20	\$4,140.00	
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	15.00	\$2.75	\$41.25	\$10.00	\$150.00	\$5.75	\$86.25	
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	41.00	\$3.50	\$143.50	\$10.00	\$410.00	\$5.75	\$235.75	
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	8.10	\$184.50	\$1,494.45	\$150.00	\$1,215.00	\$100.00	\$810.00	
692.	MOBILIZATION	U	1.00	\$140,000.00	\$140,000.00	\$140,000.00	\$140,000.00	\$150,000.00	\$150,000.00	
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	
1010.15	FUEL ADJUSTMENT	\$	70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	s	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	

New Hampshire Department of Transportation

ABC Bid Data

DISTRICT 2 16162L NON-FEDERAL

				PS&E		3 EASTGA	USTRIES, INC. IE PARK ROAD VT, NH 03220	1 CONTIN	AL PAVING INC ENTAL DRIVE RRY, NH 03053
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	14,438.00	\$1.00	\$14,438.00	\$1.00	\$14,438.00	\$1.00	\$14,438.00
		Totals:			\$5,187,437.13		\$5,573,390.73		\$6,034,990.21
		Alt. Totals:							
			Totals:		\$5,187,437.13		\$5,573,390.73		\$6,034,990.21



PS&E Comparison

DISTRICT 2 16162L NON-FEDERAL

				A-Bid	der	PS8	ßЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
206.1	COMMON STRUCTURE EXCAVATION	CY	6.10	\$4,200.00	\$25,620.00	\$460.00	\$2,806.00	\$22,814.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	7,292.00	\$32.00	\$233,344.00	\$29.00	\$211,468.00	\$21,876.00
403.11023	HBP-3/4" BINDER MIX, MACHINE METHOD	TON	913.00	\$80.00	\$73,040.00	\$93.00	\$84,909.00	(\$11,869.00)
403.11051	HBP-3/8" SURFACE MIX, MACHINE METHOD, QC/QA TIER 1	TON	3,749.90	\$85.00	\$318,741.50	\$77.00	\$288,742.30	\$29,999.20
403.11943	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	1,796.50	\$84.00	\$150,906.00	\$96.50	\$173,362.25	(\$22,456.25)
403.12	HBP-HAND METHOD	TON	95.10	\$250.00	\$23,775.00	\$194.00	\$18,449.40	\$5,325.60
403.16	PAVEMENT JOINT ADHESIVE	LF	66,701.00	\$0.30	\$20,010.30	\$0.30	\$20,010.30	\$0.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	4,938.20	\$2.50	\$12,345.50	\$3.50	\$17,283.70	(\$4,938.20)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	31,137.00	\$3.00	\$93,411.00	\$3.75	\$116,763.75	(\$23,352.75)
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	1,874.90	\$89.00	\$166,866.10	\$78.00	\$146,242.20	\$20,623.90
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	36,515.20	\$89.00	\$3,249,852.80	\$82.00	\$2,994,246.40	\$255,606.40
417.	COLD PLANING BITUMINOUS SURFACES	SY	42,230.00	\$2.75	\$116,132.50	\$2.00	\$84,460.00	\$31,672.50
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	4,795.00	\$0.50	\$2,397.50	\$2.00	\$9,590.00	(\$7,192.50)
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	161.00	\$145.00	\$23,345.00	\$124.00	\$19,964.00	\$3,381.00

Friday, March 3, 2023 Page 5 of 8

New Hampshire Department of Transportation

PS&E Comparison

DISTRICT 2 16162L NON-FEDERAL

		1		A-Bide	der	PS8	&E	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
604.0007	POLYETHYLENE LINER	EA	69.00	\$145.00	\$10,005.00	\$156.00	\$10,764.00	(\$759.00)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	40.00	\$750.00	\$30,000.00	\$546.00	\$21,840.00	\$8,160.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	2.00	\$750.00	\$1,500.00	\$576.00	\$1,152.00	\$348.00
604.72	GRATES & FRAMES, TYPE B	EA	29.00	\$400.00	\$11,600.00	\$695.00	\$20,155.00	(\$8,555.00)
608.2401	4" CONCRETE SIDEWALK	SY	53.70	\$250.00	\$13,425.00	\$102.00	\$5,477.40	\$7,947.60
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	9.60	\$450.00	\$4,320.00	\$434.00	\$4,166.40	\$153.60
609.5	RESET GRANITE CURB	LF	62.00	\$100.00	\$6,200.00	\$75.00	\$4,650.00	\$1,550.00
616.606	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 6 FT	EA	1.00	\$800.00	\$800.00	\$700.00	\$700.00	\$100.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	5.00	\$1,450.00	\$7,250.00	\$1,475.00	\$7,375.00	(\$125.00)
616.95	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$9,000.00	\$9,000.00	\$10,000.00	\$10,000.00	(\$1,000.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$0.00
618.7	FLAGGERS	HR	2,250.00	\$60.00	\$135,000.00	\$45.00	\$101,250.00	\$33,750.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$115,000.00	\$115,000.00	\$60,000.00	\$60,000.00	\$55,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$3,200.00	\$12,800.00	\$4,100.00	\$16,400.00	(\$3,600.00)
628.1	SAWED CONCRETE PAVEMENT	LF	48.40	\$10.00	\$484.00	\$13.75	\$665.50	(\$181.50)
628.2	SAWED BITUMINOUS PAVEMENT	LF	119.80	\$10.00	\$1,198.00	\$8.00	\$958.40	\$239.60
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	2,431,579.50	\$0.14	\$340,421.13	\$0.15	\$364,736.93	(\$24,315.80)

Friday, March 3, 2023 Page 6 of 8



PS&E Comparison

DISTRICT 2 16162L NON-FEDERAL

				A-Bidd	der	PS8	RE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	709.00	\$1.50	\$1,063.50	\$2.00	\$1,418.00	(\$354.50)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	365.00	\$5.00	\$1,825.00	\$5.00	\$1,825.00	\$0.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	709.00	\$1.90	\$1,347.10	\$2.00	\$1,418.00	(\$70.90)
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	126.00	\$2.30	\$289.80	\$2.50	\$315.00	(\$25.20)
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	251.00	\$3.00	\$753.00	\$3.00	\$753.00	\$0.00
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	46.00	\$4.00	\$184.00	\$5.50	\$253.00	(\$69.00)
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	365.00	\$5.00	\$1,825.00	\$5.00	\$1,825.00	\$0.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	450.00	\$8.00	\$3,600.00	\$16.50	\$7,425.00	(\$3,825.00)
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	15.00	\$10.00	\$150.00	\$2.75	\$41.25	\$108.75
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	41.00	\$10.00	\$410.00	\$3.50	\$143.50	\$266.50
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	8.10	\$150.00	\$1,215.00	\$184.50	\$1,494.45	(\$279.45)
692.	MOBILIZATION	U	1.00	\$140,000.00	\$140,000.00	\$140,000.00	\$140,000.00	\$0.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00

Friday, March 3, 2023 Page 7 of 8



PS&E Comparison

DISTRICT 2 16162L NON-FEDERAL

				A-Bido	der	PS8		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	14,438.00	\$1.00	\$14,438.00	\$1.00	\$14,438.00	\$0.00

Total: \$5,573,390.73 \$5,187,437.13 \$385,953.60

Friday, March 3, 2023 Page 8 of 8